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Part A

Section Id : 92090687
Section Number : 1
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 21
Number of Questions to be attempted : 21
Section Marks : 100
Enable Mark as Answered Mark for Review and Clear Yes
Response :
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 920906140
Question Shuffling Allowed : No

Is Section Default? : null



Question Id : 9209064352 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes
Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)
Question Label : Comprehension

Ui & SNYR W FgfeiEd uyi & I difve

T geu ¥ feuax Q9 S0 9
o1 U & Wi Us 3,

TGl & FAGR HYY Bl WA,
3R, Bdl Bad 1 Hiel ¥ & |
TR &5 8R! H UH A 3P B,
T1 gt A e off O 9 I
U S Fel fHe, e Y gl [
A gar g1, s Siigdl W@l &l o,
q1d HedHl & HUAS Ulds fearaR |
T srary o1, T4 Ted & 9 4,
AT 6T T 4T, TN BT HidT U7l

Sub questions

Question Number : 1 Question Id : 9209064353 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

doR Rl |/ 1 AIgT Ben?

(1 ©8 2 U8
(3) 3 CGE
Options :

92090617201. 1
92090617202. 2
92090617203. 3
92090617204. 4

Question Number : 2 Question Id : 9209064354 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



farsr forgt =1 wep ot dien =1gT 3v1an?

(1) @R (2) <=1
(3) TR @) aydten
Options :

92090617205. 1
92090617206. 2
92090617207. 3
92090617208. 4

Question Number : 3 Question Id : 9209064355 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

$id A wWieR fearg fe  —— 1|

(1) ds (2) &Y
(3) FHL (4) SFIE
Options :

92090617209. 1
92090617210. 2
92090617211. 3
92090617212. 4

Question Number : 4 Question Id : 9209064356 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

®id = a1 sl Tr1 Y1

(1)  wel (2) Tad
(3) WgN (4) HHA
Options :

92090617213. 1
92090617214. 2
92090617215. 3
92090617216. 4



Question Number : 5 Question Id : 9209064357 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

$id F fg a4

(1) WSS (2) HHAI DI
(3)  HIEAT DI (4) oftaq &1
Options :

92090617217. 1
92090617218. 2
92090617219. 3
92090617220. 4

Question Id : 9209064352 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes
Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)
Question Label : Comprehension

Ui & SNYR W FgfeiEd uyi & I difve

T geu ¥ feuax Q9 S0 9
o1 U & Wi Us 3,

TGl & FAGR HYY Bl WA,
3R, Bdl Bad 1 Hiel ¥ & |
TR &5 8R! H UH A 3P B,
T1 gt A e off O 9 I
YU S &8 fHe, ®d 4d 81 T |
A gar g1, s Siigdl W@l &l o,
q1d HedHl & HUAS Ulds fearaR |
T srary o1, T4 Ted & 9 4,
AT 6T T 4T, TN BT HidT U7l

Sub questions

Question Number : 1 Question Id : 9209064353 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



dolR ¢Rd § &1 gl Ben?

1y s 2 U
3) SR (4) o
Options :

92090617201. 1
92090617202. 2
92090617203. 3
92090617204. 4

Question Number : 2 Question Id : 9209064354 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fg gt 3 U ot dier =T S

(1) TWR (2) =1
3) TR ) uudan
Options :

92090617205. 1
92090617206. 2
92090617207. 3
92090617208. 4

Question Number : 3 Question Id : 9209064355 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

FATEPRGmgfFd — 7|

(1) dd® (2) ey
3) gHl (4) S
Options :

92090617209. 1
92090617210. 2
92090617211. 3
92090617212. 4



Question Number : 4 Question Id : 9209064356 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

HIq = HdI Sl JrT Y1

(1) &l (2) Tad
3) W @) W
Options :

92090617213. 1
92090617214. 2
92090617215. 3
92090617216. 4

Question Number : 5 Question Id : 9209064357 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

oid A foed Iar e

(1) dEHl (2) HHAI &I
(3) METDI (4) Gildd &I
Options :

92090617217. 1
92090617218. 2
92090617219. 3
92090617220. 4

Sub-Section Number : 2
Sub-Section Id : 920906141
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 6 Question Id : 9209064358 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



T 31yal G & o ®U I IuD] Yav a/d & bl gu Weg & 1y fadwa: fvar &
1Y TSIl 81 IYB! Ped © -

(1) oo 2) BRS
3) fauf @ THIDE T
Options :

92090617221. 1
92090617222. 2
92090617223. 3
92090617224. 4

Question Number : 6 Question Id : 9209064358 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T MYl YA & o T4 Q I Yo+ a1 & fobadl gER U3 & 91y fasiva: i &
1Y [T BT §1 ISP gl & -

(1)  fagrem ) PIRSD
3) faufda @) FAHABE T8T
Options :

92090617221. 1
92090617222. 2
92090617223. 3
92090617224. 4

Question Number : 7 Question Id : 9209064359 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



A dgHE

B. Hgled

c. IR

D. WHHS

e

i fdu 71y fashedl § © T8l ITR &1 99 BT ;

(1) dd A, B,C

(2) dd A,B,D

(3) dd A, CE

(4) Had A C,D
Options :

92090617225. 1
92090617226. 2
92090617227. 3
92090617228. 4

Question Number : 7 Question Id : 9209064359 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

FHYRY YA T IE0 ¢ -
A dgHdE

B. Weled

c. AR

D. WHHG

. fodm

i fgu o fashedl © 9 9l 3T &1 98 Sy :
(1) @dd A,B,C

(2) @&dd A, B,D

(3) &dd A CE

(4) dd A C,D

Options :



92090617225. 1
92090617226. 2
92090617227. 3
92090617228. 4

Question Number : 8 Question Id : 9209064360 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Tt | & Y g 11 & e St

et-1 (dhgd) I (doHH)
(A) HN (M o
®) faaa@r ay  IqH
(C) W @iy oof
(D) 4H (V) HBI

i fau ¢ fasedl | 9 gl 3T &1 994 DIfI;

(1) (A)-(I1), (B)-(I), (C)-(IV), (D)-(l)
(2 (A)-(IV), (B)-(1), (C)-(IN), (D)-(1)
(
(

Lo

3 (A)-(1), (B)-(II), (C)-(l1), (D)-(IV)
4) (A)-(IV), (B)-(1), (Q)-(IN), (D)-(I)

L—

Options :

92090617229. 1
92090617230. 2
92090617231. 3
92090617232. 4

Question Number : 8 Question Id : 9209064360 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



gt 1 & Y g 0 & e Sife

eli-1 (Thgd) -l (dcHH)

(A) R (M qu
@) faaa@r () ER
() YR iy gof
(D) UH (V) HPHI
Hid f¢u U {9t 1 ¥ Tel I &1 99 I

(1) (A)=(I1), (B)=(D), (C)-(IV), (D)-(l1y

(2) (A)-(IV), (B)-(1l1), (C)-(N), (D)-(1)

(3) (A)-(1), (B)-(I), (C)-(l1), (D)-(IV)

(4) (A)-(IV), (B)-(1), (C)-(11), (D)-(lHry

Options :

92090617229. 1
92090617230. 2
92090617231. 3
92090617232. 4

Question Number : 9 Question Id : 9209064361 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

e e 2| g | fFa Us § -

(1) Wi 2) M
3) @ 4) @
Options :

92090617233. 1
92090617234. 2
92090617235. 3
92090617236. 4

Question Number : 9 Question Id : 9209064361 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



e e 2| g | fFa Us § -

(1) dia @ m
3) @l 4 ®
Options :

92090617233. 1
92090617234. 2
92090617235. 3
92090617236. 4

Question Number : 10 Question Id : 9209064362 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

It | 6 G1Y G 1| 1 e Sifag

-1 (ETa) Tt -1 (31e)

(A) < STl () dd- bl Yl b3l
(B) TR H Al () R HA
(€) HTd BT Y= g () SIHILIEA
(D) & TTOT HIAT (V) TSI oI

Hid fqu ¢ fadhedl § T IR &1 994 DI

(1) (A)-(I), (BY-(11), (CY-=(1}, (D)-(IV)

(2) (A)-(IV), (B)-(I1), (C)-(1), (Dy-(I)y

(3) (A)-(D, (B)-(11), (C)-(l), (D)-(IV)

(4) (A)-(In), (B)=(11), (C)-(I1), (D)-(1)

Options :

92090617237. 1
92090617238. 2
92090617239. 3
92090617240. 4

Question Number : 10 Question Id : 9209064362 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



el | & F1Y Gl 1| BT HeE By

-1 (HBT) Tt -1 (31)
(A) o< STl ()  ddd bl Yledd b3l
(B) TR H I ()  URP B
(€) d I &1 Y g () S HIIEA
(D) 1 TTOTR HAT (V) SATST &I

i fau v fasedl & € UEl 39 &1 98- S

1) (A)-(I1), (B)-=(111), (C)-(1), (D)-(IV)
2) (A)-(IV), (B)-(I), (C)-(1), (D)-(In)
3) (A)=(1), (B)-(11), (C)-(1), (D)-(IV)
4) (A)-(11), (B)-(111), (C)-(I), (D)-()
Options :

92090617237. 1

92090617238. 2

92090617239. 3

92090617240. 4

(
(
(
(

Question Number : 11 Question Id : 9209064363 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

6 cm I 9101 o1 & U 319 Tid ®I fUgdl 2 0.6 cm Biodn arell S1¢1 319 e &8 51
39 USHR &1, 7T 11 I GBI J1d Do |

(1) 5000 (2) 1000
(3) 2000 (4) 2400
Options :

92090617241. 1
92090617242. 2
92090617243. 3
92090617244. 4

Question Number : 11 Question Id : 9209064363 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



6 cm BT aTd o1 & U 319 Tidd @1 fUgdl H3 0.6 cm B arell B¢l 319 7S &8 151
S UPR §1 715 1151 B G J1d Hiforg|

(1) 5000 (2) 1000
(3) 2000 (4) 2400
Options :

92090617241. 1
92090617242. 2
92090617243. 3
92090617244. 4

Question Number : 12 Question Id : 9209064364 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

afz sinﬁ':% -3 ”Sta”g ST 1 FR)

ect
(1) % (2) %
® = @ 3
Options :

92090617245. 1
92090617246. 2
92090617247. 3
92090617248. 4

Question Number : 12 Question Id : 9209064364 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

afz sinﬁ':% -3 ”sta”g ST 1 FIR)

ect
15 17
(1) 12 (2) 3
12 2
(3) 4) =

13 5



Options :

92090617245. 1
92090617246. 2
92090617247. 3
92090617248. 4

Question Number : 13 Question Id : 9209064365 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

6% A &I a3 § fdoaa THY H 2 3,300 DI AR T 3,399 g1 W, Halds sare ufd SHG!
YO g1 8

(1) 6WHgH 2 13d4
(3) 194 6HEA @ 294
Options :

92090617249. 1
92090617250. 2
92090617251. 3
92090617252. 4

Question Number : 13 Question Id : 9209064365 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

6% A &I aX ¥ foa THT # z 3,300 Dt AR 3,399 8 U, Hafd =aa ufd SHE!
oo g1 38T 8

(1) 6#HEH ) 199
3) 198 6TEH @ 2a4
Options :

92090617249. 1
92090617250. 2
92090617251. 3
92090617252. 4

Question Number : 14 Question Id : 9209064366 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



U& gHMER 100 U9 99, 40 U1 & g geg R RS @y Ui a1 g1 39T ary
ufe=rd 1 Hifo (GImed & &1 H 7@ ) :

(1) 64.47% (2) 66.67%
(3) 68.80% (4) 55.59%
Options :

92090617253. 1
92090617254. 2
92090617255. 3
92090617256. 4

Question Number : 14 Question Id : 9209064366 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

& gHMER 100 U9 99%, 40 U1 & g geg W o @y Ui al g1 39T ary
ufcrerd 1 Hifo (GIHed & &1 - aF Hg)) :

(1) 64.47% (2) 66.67%
(3) 68.80% (4) 55.59%
Options :

92090617253. 1
92090617254. 2
92090617255. 3
92090617256. 4

Question Number : 15 Question Id : 9209064367 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



A smeHt 3R 2 Ted e & &1 10 &9 § 3 I&d €, TaP 2 AeH 3R 3 TS 391
FH D 8 RAT I IDA 81 3 AGH 3R 1 TSHI IH B DI [had g H B Ura?

1 e
1 11— 2) 18—
() 18 () 11
1 9
3 9— 4) 11—
) 11 ) 11

Options :

92090617257. 1
92090617258. 2
92090617259. 3
92090617260. 4

Question Number : 15 Question Id : 9209064367 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

o 3reHt SR 2 dad fadt &M #i 10 39 A & Gad € wdld 2 3eHl 3R 3 I8 Il
&M H1 8 37 H HI TFd g1 3l MSH 3N 1 TSH1 39 B Bl fhdq a7 & & ar@i?

1 2

11— 18—

() 18 @ 11
1 9

3 9— 4) 11—
(%) 1 ) 11

Options :

92090617257. 1
92090617258. 2
92090617259. 3
92090617260. 4

Question Number : 16 Question Id : 9209064368 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



forg - & a1 ofik &1 1S wemefi & o9 Way &1 e § 1@d gu, U 91d difer|

3:81::4:2

(1) 64 2 32
(3) 256 4) 148
Options :

92090617261. 1
92090617262. 2
92090617263. 3
92090617264. 4

Question Number : 16 Question Id : 9209064368 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

forg : : & 12 iR &1 12 wemaii & di9 Hdy & eF § Tad gY, WS J1d B

3:81::4:7

(1) 64 (2) 32
(3) 256 (4) 148
Options :

92090617261. 1
92090617262. 2
92090617263. 3
92090617264. 4

Question Number : 17 Question Id : 9209064369 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



FofafEa 31 Feaul &1 fifdet 39 R fdar i R Fufa @ifve & 53 9 @ aF-a
fepd i e U FyA O & 1S Y & 9HfUd 9eE § R dlid® &9 9 e a1l g

HUF : UPSC Udiasfi # SRI%d g1 @ SR AFaa g1 81 oo Fafta s o
gdiensti # S %d gl old g

frepd | ot 3 e, Fafia T8  al
- Tt ol B, e A e €

(1)  &ad | UTa- &l &
(2) $ad | 9T $dl &
)
J

(3) SFIH Y PIS UH | T1 1 UTaH &l 8
4) SR PIS UH |11 9T T8l Hdl g
Options :

92090617265. 1
92090617266. 2
92090617267. 3
92090617268. 4

Question Number : 17 Question Id : 9209064369 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Fafafed 3 Fseyl @1 firdeR 39 W [daR Sifen ofR FRuiRa S & 33 § 3 $H-
e - o U FyE o 1S g & 9fd 938 4 R aIfd® &9 9 e #3dl g

HUYF :  UPSC Udlesfl H ol%d 811 &1 BRU A g g1 $w Fafla s o
gdefsii & swd g oild gl

ey .| et Il B, i A8 §al
- | STl B, Fafta T8 g B

(1)  &ad | U Sl 8
(2)  &ad || UTeH $dl §
3) S HAPIS TS | 11U Bl §
) SHIH A SIS TP | 11 U 6l Hdl &

(4

Options :
92090617265. 1



92090617266. 2
92090617267. 3
92090617268. 4

Question Number : 18 Question Id : 9209064370 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fageht &1 a1g § & IuP ufd &1 I3 19 F 918 fb=g 22 fE9raR T ggd 3| Sldfd 39!
U &1 I15 § 6 395 Y3 &1 oFAfed 20 & 915 fohwg 24 Gwrar 4 ugd ¢ | afe HI 9Ei &,
ad faget & uft &1 o=fea FafifGa A P A s

(1) 23 fegmEr (2) 22 feurar
3) 21fRumER (4) 20 feamER
Options :

92090617269. 1
92090617270. 2
92090617271. 3
92090617272. 4

Question Number : 18 Question Id : 9209064370 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fagdt ®1 a1g & 6 Iud ufd &1 oAl 19 F 912 b 22 GuraR 9§ ugd ¢ | Sdfds Ig&!
U &1 918 & % 39F g &1 oFafed 20 & 918 fbeg 24 Rwmar @ ugd 81 o ST wdl €,
a faget & ufd @1 ol Pl A a Ga A g

(1) 23 feamr (2) 22feamEr
3) 21 feumR (4) 20 fumR
Options :

92090617269. 1
92090617270. 2
92090617271. 3
92090617272. 4

Question Number : 19 Question Id : 9209064371 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

gf¢ SPRING & e HIMT H RTOQQSOMOFH feraT S1dl €, dd MEDIUM &1 e Uil |
Frafafed & 9 feg ueRr fomar smem

(1 LNTDEOALM (2) LNICDOALN
(3) LNICDOALN (4) LINCEOALN
Options :

92090617273. 1
92090617274. 2
92090617275. 3
92090617276. 4

Question Number : 19 Question Id : 9209064371 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gf¢ SPRING & T HIMT H RTOQQSOMOFH foRET STdl €, @ MEDIUM &1 He Ul |
Frafafea # 9 f&9 yeR fergr srem

(1) LNTDEOALM (2) LNICDOALN
(3) LNICDOALN (4) LINCEOALN
Options :

92090617273. 1
92090617274. 2
92090617275. 3
92090617276. 4

Question Number : 20 Question Id : 9209064372 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

US TSP!, U Wl B 3R IR S Pgdl ¢ ‘T8 W 3161 & T & U J3 1 9 §'| dd 39
I BT TSHI S TIY T TaH B

(1) dgd (2) Hreft
3) Hi @) Yo
Options :

92090617277. 1
92090617278. 2



92090617279. 3
92090617280. 4

Question Number : 20 Question Id : 9209064372 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

US TSP!, U Wl B 3R IR S Pgdl ¢ ‘T8 W 3161 & T & U J3 1 9 §'| dd 39
I BT TSHI S TIY T TaH B

(1) dgd (2) Hreft
3) Hi @) Yo
Options :

92090617277. 1
92090617278. 2
92090617279. 3
92090617280. 4

Question Number : 21 Question Id : 9209064373 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

it | F A g | @ e St

-1 (BT & ) Tt -1 (ST
B cRIPIY yitres A a faem
(8) SHRIPHY URHIY] Fail SHTHHRUI () S
() HYF AP d1d ATTIRTcH By iy RFTR
(D) URm yid snfdes wgdn (V) SEl

+rd feu e fasedi & 9 95! TR &1 994 Fifoig:

(1) (A)-(IV), (B)-(1), (C)-(I), (D)-(IN)
(2) (A)-(IV), (B)-(1), (C)-(I1), (D)-(H1y
(3) (A)-(1), (B)-(IV), (C)-(11), (D)-(l1)
(4) (A)-(1l), (B)-(IV), (C)-(I), (D)-(1)

Options :
92090617281. 1
92090617282. 2



92090617283. 3
92090617284. 4

Question Number : 21 Question Id : 9209064373 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

il | 5 |1y gl 1| 671 i sife

-1 (BT & ) Tt -1 (ST
B cRIPIY yitres A a faem
(8) SHRIPHY URHIY] Fail SHTHHRUI () S
() HYF AP d1d ATTIRTcH By iy RFTR
(D) URm yid snfdes wgdn (V) SEl

+rd feu e fasedi & 9 95! TR &1 994 Fifoig:

(1) (A)-(IV), (B)-(1), (C)-(I), (D)-(IN)
(2) (A)-(IV), (B)-(1), (C)-(I1), (D)-(H1y
(3) (A)-(1), (B)-(IV), (C)-(11), (D)-(l1)
(4) (A)-(1l), (B)-(IV), (C)-(I), (D)-(1)

Options :

92090617281. 1
92090617282. 2
92090617283. 3
92090617284. 4

Question Number : 22 Question Id : 9209064374 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Y 3115 3R (CSIR) &1 WYH Afge AeiHeYd i odi?

(1) e SRE (2) FAcaTyrE! dAded!
(3) TN 4) fagrar R
Options :

92090617285. 1
92090617286. 2
92090617287. 3
92090617288. 4



Question Number : 22 Question Id : 9209064374 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Uy 31 3R (CSIR) B UYH Aigd AeFwd & oi?

(1) e SREr (2) FAcaTynd daHed!
(3) SEUNISUd @) fagrEr R
Options :

92090617285. 1
92090617286. 2
92090617287. 3
92090617288. 4

Question Number : 23 Question Id : 9209064375 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

13 g Sy R &:
®YFI| . HEIdIE!, &N & aiw A siftel g1 & forae! Fgfd didum & siwse
76 1 3(=T7fd PR GRT B 1A B

FUYF I :  HEHGE!, Y9e & Siddg! H, die &1 PR F=aifd U & Tdhdl g
JUSd HYA & fdld |, - iU 10 fawal § 9 9 I 994 $ifeiy

(1) Y1 3R 1A HEl g
(2) ®YAI SR 1 S TTEd §
(3) YT Uele, Al HY |l TToid &
(4) ®YFITTAd g, dfbd YT 1 9ET B

Options :

92090617289. 1
92090617290. 2
92090617291. 3
92090617292. 4

Question Number : 23 Question Id : 9209064375 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



R Fy kU U §:

HYFI1 . HERIdE!, 3X $1 gai= A sifterl g1 € et Fgfd dfdurm & siwse
76 &1 Sf=a7id IFUT GRT F I B

FYF Il :  HEIHERE!, UHS & SIddie! H, dic &1 MMEER =did U & Hhdl gl
JUiad HYA & 3P H, A fGu e fAwadl § 9 9t It 99+ Hifelw

(1) ®YF | SR || S 9l e
2) FUTIAR NS Tad &
(3) HUTIYHslE, AP HYA I e &
(4) PUTITAd §, Al HYF 1 BT &
Options :
92090617289. 1
92090617290. 2

92090617291. 3
92090617292. 4

Question Number : 24 Question Id : 9209064376 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

e & we lRw e @:
HYF| 0 AP I TR TISHT (NRHM) 1 HRY 22 30 2008 1 faar mar ur

®YFI: (NRHM) FT I5=0 I g &R 3R Higed P <X &1 92/l gl
IWRITd HYF & Said §, 19 Ru e fdded § & 99 Iugat I &1 994 Sifeg

(1) &Y 3R 1S FER
(2)  HYF 1SR | T T §
(3) Y| Fele, Wi By || Tad &
(4)  HYF | A B, Al HYE 1| HEl 8

Options :

92090617293. 1
92090617294. 2
92090617295. 3
92090617296. 4

Question Number : 24 Question Id : 9209064376 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

#9 q1  fag e &:
HYT| ;YR IR IGHT (NRHM) 1 HRY 22 30 2008 1 fasam ar o

BYTIl:  (NRHM) BT 359 Y 7 R SR AGd Jog <R $1 °Al 8
SWRIFd HYF & el H, 7 fGu e fasedl § § el Iugd IR &1 99 Difeig

(1) U SR 1A 9d R
(2)  HYF | 3R 1| T T &
(3) HY| WEl g, dichd HUF 1l TTed §
(4) YT TTAd B, e HY 11 981 B

Options :

92090617293. 1
92090617294. 2
92090617295. 3
92090617296. 4

Question Number : 25 Question Id : 9209064377 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

9 3w #1 ¢ 71 & gRI Sf39 $Y 2022 e Siidr 41

(1) sieferar (2) IRmE
3) HH (4) HAST
Options :

92090617297. 1
92090617298. 2
92090617299. 3
92090617300. 4

Question Number : 25 Question Id : 9209064377 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



fFa 29 &1 29 71 F gRT 339 $9 2022 v Sfar U1

(1) 3ffefemn (2) IRmE
3) WA (4) S
Options :

92090617297. 1
92090617298. 2
92090617299. 3
92090617300. 4

Part B: Sports Physiology

Section Id : 92090688
Section Number : 2

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 75
Number of Questions to be attempted : 75

Section Marks : 300
Enable Mark as Answered Mark for Review and Clear Yes
Response :

Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 920906142
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 26 Question Id : 9209064378 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The Training process which is done purely in mind is

(1) MMind Game (2) Imagery
(3) Mental State (4) Goal Setting
Options :

92090617301. 1
92090617302. 2
92090617303. 3
92090617304. 4



Question Number : 26 Question Id : 9209064378 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

_wfamorgfea, S quid fEwm § &t St 81

(1) fearitEa (2) el
(3) HHARS R (4) w&g Frufor

Options :

92090617301. 1
92090617302. 2
92090617303. 3
92090617304. 4

Question Number : 27 Question Id : 9209064379 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following are Bacterial diseases?
(A) Cholera, Diarrhea

(B) Polio, AIDS

(C) Leprasy, Plague

(D TB. Tetnus

(E) Chicken Pox, Rabies

Choose the correct answer from the options given below :

(1) ABC
(2) ACE
(-3 C.DE
(4) ACD

Options :

92090617305. 1
92090617306. 2
92090617307. 3
92090617308. 4

Question Number : 27 Question Id : 9209064379 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Pigfif@d & & S-3 siar] S a1 2

A oY %

B. Uifedl UsH

C.  PF I, @I

D. didl, feedg

E. o, i

i fu 7Y fadedi | 9 T8 3R &1 9 il :
(1) &ad A B, C

(2) <ad A CE

(3) @ad C, D, E

(4) &dd A C,D

Options :

92090617305. 1
92090617306. 2
92090617307. 3
92090617308. 4

Question Number : 28 Question Id : 9209064380 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following theories are not associated with personality?
(A) Inverted-U Theory

iB) Drive Theory

(C) Psychodynamic Theory

Dy Trait Theory

(E) Social Learning Theory

Choose the correct answer from the options given below :

(1) A B
(2) AD
(3 B, C
i(4) AC
Options :

92090617309. 1
92090617310. 2



92090617311. 3
92090617312. 4

Question Number : 28 Question Id : 9209064380 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fFafafad d 4 1 3 g safddd ¥ gefta 78 82

A, Jeei-g g
B. I%d s

C. TR g
D. wahd s

E. gt Rigor s
e f&u T fadedi & 9 98t IR &1 99 B ;

(1) ad A B
(2) ad A D
(3) dd B, C
4) Had A C

Options :

92090617309. 1
92090617310. 2
92090617311. 3
92090617312. 4

Question Number : 29 Question Id : 9209064381 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

An athlete must work consistently, they must write goals and review them periodically,
Which type of goals setting 15 discussed above.

(1) Short term goal (2) BSet specific goal

(3 Long term goals (4) No outcome goals

Options :

92090617313. 1
92090617314. 2
92090617315. 3
92090617316. 4



Question Number : 29 Question Id : 9209064381 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

U fEArS! &1 @R &1H S 91T, 34 d&d &I forg1 91T SiR 9Hg-THg IS THiel
H3 gfet | SR 5 usR & deg Ay &1 99 31718 81

(1) BT @l & ey 2) oo deg FRufo
3) o2t 3afd F ae (4) 1S URUM T aed
Options :

92090617313. 1
92090617314. 2
92090617315. 3
92090617316. 4

Question Number : 30 Question Id : 9209064382 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Increased pressure to win, beginning a sport too early, and not being involved in other
activities are symptoms of

(1) Motivation (2) Burn out
(3) Personality disorder (4) Mood-swing
Options :

92090617317. 1
92090617318. 2
92090617319. 3
92090617320. 4

Question Number : 30 Question Id : 9209064382 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ol & oY 9g1 g gamd, §gd vieal @d & B AR 39 nfafafial § wiia g

& TS
(1)  ORom (2) & FHe
(3) SHfadd fAUR @) e

Options :



92090617317. 1
92090617318. 2
92090617319. 3
92090617320. 4

Question Number : 31 Question Id : 9209064383 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following represent the Primary Structural Unit for most of the Body's.
biologically active substances?

(A) Carbon

(B) Hydrogen

iy Methane

(D) Oxygen

(E) Nitrogen

Choose the correct answer from the options given below :

(1) ABCD
(2) ACDE
(3) ABDE
(4) B.C.D, E

Options :

92090617321. 1
92090617322. 2
92090617323. 3
92090617324. 4

Question Number : 31 Question Id : 9209064383 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Fafefag # S oH-91 IR & Afbeiw wifds giby ugrdl & fore uufte = as gars
HIufaFfa s g

A BIEA

B. TRGH

c. =

D. 3o

E EgoA

i 3T T fasedi ® 9 98l IR &1 =g Sifoig :
(1) @dd A B,CD

() &dd A C,D,E

(3) hdd A B D,E

(4) $dd B,C, D, E

Options :

92090617321. 1
92090617322. 2
92090617323. 3
92090617324. 4

Question Number : 32 Question Id : 9209064384 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

During high intensity exercise. The source of energy is

(1) Lipids (2) Intracellular fat
i(3) Glycogen stored 18 muscles (4) Extracellulor fat
Options :

92090617325. 1
92090617326. 2
92090617327. 3
92090617328. 4

Question Number : 32 Question Id : 9209064384 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



e feadt & S F SR oIl &1 Wid i gl

1 faus (2) Sd-PIHE T
3)  wHIgUEE E guied /ega e (4) ETgladl

Options :

92090617325. 1
92090617326. 2
92090617327. 3
92090617328. 4

Question Number : 33 Question Id : 9209064385 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Given below are two statements

Statement [ : Owerweight individuals often have a blunted thermic response to eating

that contributes to exeess body fat accumulation.

Statement 11 . Food consumption generally increases energy metabolism. Diet-induced
thermogenesis (DIT; sometimes referred to as thermic effect of food.
Interestingly, the magnitude of DIT alzo may be lower in endurance-

trained individuals that in un-trained counterparts.
In the light of the above statements, choose the correct answer from the options given below :

(1) Both Statement I and Statement II are true
(2) Both Statement I and Statement II are false
(3 Statement I 15 true but Statement 11 1s false

(4) Statement [ 1s false but Statement I 1s true

Options :

92090617329. 1
92090617330. 2
92090617331. 3
92090617332. 4

Question Number : 33 Question Id : 9209064385 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

TR R s
FYA | - P qo ardl AlGadl H R @H & o UP e e ufafhan gt g o IRR
o 3fffve g91 999 arTgH i ¢

HUA 11 - HISH P @Y ATH dR U ol 9999 &1 9erdl ol ARR-URg yaoRReg & g
& st Wi & uifife uue & wu @ defifa frar o 8| Roew e og &
i Stemsct &1y SR wHbal H1 gor | Hg-T=iida-HiRiiéa el 4
W g aaar gl

IWIad HY- & AdlP H, Aid fGU U fdeedl H § 9el It &1 994 Difu
(1)  HYF AR N Td 8

20 HYFIARNGH GTI T

(

3)) T e AT eI A T
4) HYFI 3G S, AfbTIHYTI I T

L

Options :

92090617329. 1
92090617330. 2
92090617331. 3
92090617332. 4

Question Number : 34 Question Id : 9209064386 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements : One 15 labelled as Assertion (A) and the other 15 labelled as
Reason (R).

Assertion (A) : Endurance Athletes Commonly refers to this sensation of fatipue as
“bonking” or “hitting the wall.”

Reasons (R) : Skeletal muscle lacks the phosphate enzymes. Which allows glucose
exchange between cells and depressed availability of blood glucose for

optimal central nervous system functions.

In the light of the above statements, choose the most appropriate answer from the options
given below :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)

(2) Both (A) and (R) are true but (R) is NOT the correct explanation of (A)
(3) (A) is true but (R) is false

i(4) {A) 1= falze but (R) 15 true

Options :

92090617333. 1
92090617334. 2
92090617335.3
92090617336. 4

Question Number : 34 Question Id : 9209064386 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

1 g1 FYA 3T U §: UF SHUSYA (Assertion A) & ®U ¥ faf@d § df gavT 99 &R
{ReasonR}ai_'F‘T ﬁ;

MfFYT A . Hgilad ard fEaret AR W Y& &1 Y &1 aFfhT a1 fiar 3
THUAI" S U G Hd B g

FRUIR : HHa AURME ¥ Bidhe TogH &1 B gidl ¢l o DRSS & dg
qH I AT 3R 3Pad $w1g dAS1 97 GARE & (U 30 WD B $H
JUAE DI A Sar g

JURI HY & Haild H, i U 7 fasedl 1§ 9 gad Iugad Ju &1 99 Difelg
(1) AJRRGHTEIE ANR A DI gl AT &

2 ANRRGH TIE ABIR A D eI AT 8l &

3)  AHgIg dih R UL el o

4) AUSEIE, AfPTREEIE

Options :



92090617333. 1
92090617334. 2
92090617335. 3
92090617336. 4

Question Number : 35 Question Id : 9209064387 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A person pedaling a bicyle ergometer with 6-m flywheel circumference at 60 rpm for
1 minute covers a distance (D) of 360 m each minute (6 m = 60). If the frictional resistance on
the flyvwheel equals 2.5 kg, total work computes. as W=FxD.

Tension belt

o Flywheel
(1) 950 kg-m (2) 800 kg-m
(3) 1000 kg-m (4) 900 kg-m

Options :

92090617337. 1
92090617338. 2
92090617339. 3
92090617340. 4

Question Number : 35 Question Id : 9209064387 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

% fad URWY TR & Id aie GaiHieR digidd &1 1 e ¥ 360 e gd a9 &3 & fag
HRYITH TR TSfeht &% @1 81 afe wsaia W 2.5 [ avu uieky € af $a fea s

Uil
(1) 950 fHar-Ht (2) 800 fur-Hi
3) 1000 fur-di (4) 900 fhur-di

Options :
92090617337. 1
92090617338. 2



92090617339. 3
92090617340. 4

Question Number : 36 Question Id : 9209064388 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The process that generates energy from glucose is

(1) Lipid Oxidation (2)  Glveolysis
(3) Metabolizsm (4) P -oxidation
Options :

92090617341. 1
92090617342. 2
92090617343. 3
92090617344. 4

Question Number : 36 Question Id : 9209064388 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

b6 § Holl 3G B DI Ulsbal Bl Fad ol
1y fofoe sifsdise (2) TSI
(3) 9UUEg @) w-HleSTH

Options :

92090617341. 1
92090617342. 2
92090617343. 3
92090617344. 4

Question Number : 37 Question Id : 9209064389 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The force that is applied in a direction parallel to the surface is

(1) MNormal force (2) Compressive force

(3) Frictional foree (4) Internal force

Options :



92090617345. 1
92090617346. 2
92090617347. 3
92090617348. 4

Question Number : 37 Question Id : 9209064389 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

_ qde & gHia? fomn ® @ T €9 e e

(1) WHAdd (2) YPpladdd
3)  HNUIEd 4) Sal® T4

Options :

92090617345. 1
92090617346. 2
92090617347. 3
92090617348. 4

Question Number : 38 Question Id : 9209064390 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with Last 1T :

Liat I List I1

(A) PROTRACTION (I} Movement of sole medially at
the intertarsal joints.

{(B) INVERSION (I Movement of fore arm at the
proximal and distal radioulnar
joint.

(C) SUPINATION (IIT) Movement of a thumb at
carpometacarpel joint.

(D) OPPOSITION (IV) Movement of a part of body

anteriorly in transverse plane.

Choose the correct answer from the options given below:

(1) (A)-(I), (B)-(11), (C)~(1L), (D)-(IV)

(2) (A)-(IT), (B)~(I1I), (C)-(IV), (D)-(T)
(3) (A)-(I1D), (B)-(IV), (C)-(D), (D)-(1I)
(4) (A)-(IV), (B)-(1), (C)-(11), (D)-(I1I)

Options :
92090617349. 1



92090617350. 2
92090617351. 3
92090617352. 4

Question Number : 38 Question Id : 9209064390 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Tl | o | g 11 1 e i

- g i
(a) TE9E (WeHeF) () Se¥eRyd dftl W dad S 7 &l B
WD
() T Gl (o) (n wieaHd R f$wea S siaR Sga
H UFE F
(€ guHTA (1) PRUMHCHRYUS HiY U S SI-Tfd
o) fduy (v) 9 dd # IR & 3} UF Bl
-

A fou o faweu! & 9 wet 3U &1 994 Sifo;

(1 (A=), (B)-(1), (C)-(1), (D)-(IV)
2) (A=), (B)-(Il), (C)-(IV), (D)-()
() (A}, (B)-(1V), (C)-(1), (D)-(IN)
@) (A)-IV), (B)-(D), (C)-(1), (D)-(11D)

Options :

92090617349. 1
92090617350. 2
92090617351. 3
92090617352. 4

Question Number : 39 Question Id : 9209064391 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

An inereses in muscular tension (force) with exercise training provides the primary stimulus
to initiate the process of skeletal muscle growth, which iz known as

(1) Hypertrophy (2)  Muscle inhibition

(3) Metaholic adaptation (4) Muscle Hyper plasia

Options :
92090617353. 1
92090617354. 2



92090617355. 3
92090617356. 4

Question Number : 39 Question Id : 9209064391 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

AR URIE0 F GRE gH dral AU a91F | gis, daa arausia a-e 4 gis, Fam

Ao gfs ufbar & R &1 urufis i ueH &dl @ 5E Fedel
1 sifaafs (2) HIEY Ay

(3) 99HdEd S (4) HIEUL STSUREIE
Options :

92090617353. 1
92090617354. 2
92090617355. 3
92090617356. 4

Question Number : 40 Question Id : 9209064392 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the below statement is true in regards to cardiac reserve

(A) It is volume of blood ejected from left ventricle
(B) Volume of blood ejected by ventricle during each contraction
(C) Difference between a person’s maximum cardiac output and cardiac output at rest

(D) Top endurance athlets may have cardiac reserve seven or eight times their resting
heart rate

(E) People with heart disease may have cardiac reserve double the resting value,

Choose the correct answer from the options given below :

(1) A only
(2) B only
(3) C only
(4) D only
Options :

92090617357. 1
92090617358. 2
92090617359. 3
92090617360. 4



Question Number : 40 Question Id : 9209064392 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

FatETsET f e S ded A s 9 gl

A €I oY ¥ 918 Wb T Iad B A

B. Ud® YPpd H Herg g1 theh 101 Tad &1 3Md-

c. Us Afad & HfHan 3R ARM 3t f&ufa & geg 1 &1 3R

D. 3 Hifc & Fg-Ixliad aid (aanedl &1 ged (Noid ARH &1 Aufd $l gea X 4 9 a1
TS T BIT 6

E U@ oAfad o g6d A7 & 391 gad Reld AR @1 fR4fd & 71 3 g gl
i feu U fawed! o | w8t I &1 994 @it ;

(1) $ad A
(2) $Had B
(3) &Had C
(4) Hgda D
Options :

92090617357. 1
92090617358. 2
92090617359. 3
92090617360. 4

Question Number : 41 Question Id : 9209064393 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Elite athletes who take androstenedions can fail a urine test for the banned anabolic steroi’'d
enandrolone.

(A) Elite athlets are always under the supervision.

(B) Supplements often contains contaminates with trace amount.

(C) The doses indicate wide range of intake,

(D) Many androstenedione preparations are labled.

(E) These 1= no mention of standard marker of nandrolone doses.

Choose the correct answer from the options given below :
(1) A& B only
(2) B & E only
(3) C & D only
(4) D & B only

Options :

92090617361. 1
92090617362. 2
92090617363. 3
92090617364. 4

Question Number : 41 Question Id : 9209064393 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Tyd T & Al o TS od €, 4 Ufaefid Iued ®Iigs AldE & fou 1
gdiey 7 fawd g 9ehd g

A gyrd fEarst gawn AR A Ed B

B. WwiHe N AR ¢¥ HFT & A1y gfitid ety 81d &
C. WS Ua & f[axgd Y &1 UdHd od ¢

D. F3 TSI &1 TRl Ieafad g1l &

E FgiaH Q& & HHAS HIHR B dis Ioaid g1 6
e feu o fasedt § & 9t o) &1 9 Sifeg

(1) &ad A3RC

(2) ®ad BHRE

(3) @ad C3RD

(4) Had D3R B
Options :

92090617361. 1



92090617362. 2
92090617363. 3
92090617364. 4

Question Number : 42 Question Id : 9209064394 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Dhea (dehvdroepiandrosterone) 1s the most common hormone claiming to

(1) facilitate weight loss 2)  reduces muscle mass
(3) decrease heart risk (4) decrease immune function
Options :

92090617365. 1
92090617366. 2
92090617367. 3
92090617368. 4

Question Number : 42 Question Id : 9209064394 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

S wa 3 U (EREsEUaTs €RH) & feTT a9 o1 gTHH &1 g/al Sl g
(1) a5 &H L B HTHH AT (2) WINURE &1 ggHH $H HIA
3) BU P Wl B HH B (4) UfcRan & & HH S
Options :

92090617365. 1
92090617366. 2
92090617367. 3
92090617368. 4

Question Number : 43 Question Id : 9209064395 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements : One i1s labelled as Assertion (A) and the other 15 labelled as

Reason (R).

Aszgertion (A) : The ‘anabolic phase’ while loading nutrition consists of 45 minutes post-

exercise metabolic window. a period of enhanced insulin for muscle
glycogen.

Reasons (R) : This phase enhances nutrient intake to spare muscle glycogen and protein.

The carpohydrates consumed during this phase suppress release of cortisol.

In the light of the above statements, choose the most appropriate answer from the options

given below :

(1) Both (A) and (R} are correct and (R) 15 the correct explanation of (A)
(2) Both (A) and (R} are correct but (R) is NOT the correct explanation of (A)
(3) {A) 18 eorrect but (R) 18 not correct

(4) {A) 18 not correct but (R) 18 correct

Options :

92090617369. 1
92090617370. 2
92090617371. 3
92090617372. 4

Question Number : 43 Question Id : 9209064395 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



e & Y G U §: U@ iy (Assertion A) F 9 T fafd & ol g8 36 S (Reason R)
& =] ﬂ;

dfFE A . IFEEITS I UNY @18 $id 9HY 45 e oW 9aey [Esa! & 955
AU TR ® o & O 96 g3 suie Jag-I=iadl ® 3@are! ¢l

HRUR : g TR HIUfEE & TASa o R Ui &1 991 & foU 9N dl &1 daq
eIl ¢ 39 WRUI & R & [ IUHFT [y U FEleRae difcad o
frers & qarda gl

JURIad By & 3fTelie H, A fau e fdwedt § 8 gad Iugead 3T &1 994 $ifee

(1) A SNRREH T € SRR, A D! Gel A= §

(2) A dRREE T E A R A T wE e g R
3) AGSE AFIRES AR

(4  AHE el e AR Wel &

Options :

92090617369. 1
92090617370. 2
92090617371. 3
92090617372. 4

Question Number : 44 Question Id : 9209064396 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Glucose energy is stored mostly as

(1) Fiber (2) Protein
(3 Glycogen (4) Fat
Options :

92090617373. 1
92090617374. 2
92090617375. 3
92090617376. 4

Question Number : 44 Question Id : 9209064396 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



DTSl FHell SUIGTR & w0 H YIEId $1 Wil g

(1) RN () () WA
(3) IEHEElila;l (4) ddl
Options :

92090617373. 1
92090617374. 2
92090617375. 3
92090617376. 4

Question Number : 45 Question Id : 9209064397 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The functional unit of movement which consists of anterior motor neuron and specific muscle
fiber it innervates is

(1) Motor neuron (2) Motor unit
1] Neuro muscular junction (4) Motor inhubition
Options :

92090617377. 1
92090617378. 2
92090617379. 3
92090617380. 4

Question Number : 45 Question Id : 9209064397 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Tid B HEES gHTs oaH Jabrd Hiex-gR- X ARy Aigisf v s ga g af
3 gHIfad Bed g af Bl gl

(1) HEX RE @) HeIIh
(3) ORITEEgER gy @) Hre Uy
Options :

92090617377. 1
92090617378. 2
92090617379. 3
92090617380. 4



Question Number : 46 Question Id : 9209064398 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In which of the following bones personal sinuses are not found?

(1) Frontal bone (2) Sphenoid bone

1] Lacrimal bone (4) Ethmoid bone

Options :

92090617381. 1
92090617382. 2
92090617383. 3
92090617384. 4

Question Number : 46 Question Id : 9209064398 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

FufeEa 8 @ g oy § IRAYd YEey e U od 2|

(1)  @de ARy (2) HAIPNPR Y
@)  cferd anfey (@) T ARy

Options :

92090617381. 1
92090617382. 2
92090617383. 3
92090617384. 4

Question Number : 47 Question Id : 9209064399 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Beriberi disease [ disorder is caused by deficiency of which of the following vitamin?

(1) Vitamin B12 (2) Vitamin Bl
(3) Vitamin B3 (4) Vitamin B2

Options :

92090617385. 1
92090617386. 2
92090617387. 3
92090617388. 4



Question Number : 47 Question Id : 9209064399 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fraferad ¥ @ f faerim &t &t @ §8-58 v Sar 81

(1) fderfiF a2 ) faerfmadn
3) fderfd= &3 4) faeries iz
Options :

92090617385. 1
92090617386. 2
92090617387. 3
92090617388. 4

Question Number : 48 Question Id : 9209064400 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following macromolecules are the main components of myelin?

(1) Carbohydrates and Lipids (2)  Proteins and Nucleie Acids
(3) Lipids and Proteins (4) Carbohydrates and Nucleic Acids
Options :

92090617389. 1
92090617390. 2
92090617391. 3
92090617392. 4

Question Number : 48 Question Id : 9209064400 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
fFrafafad 92 smpeh # € aftm &1 g da $A 8|

(1) PEEEg IR fUs () U ok afdas ana
@ ffte sudE (4) PEEEIe AR gl e
Options :

92090617389. 1
92090617390. 2
92090617391. 3



92090617392. 4

Question Number : 49 Question Id : 9209064401 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In some people absorptive cells of small intestine fails to produce enough lactase, such
condition is known as

(1) Lactate absorption 2) Lactate Intolerance
(3) Lactate tolesance {4) Lactate threshold
Options :

92090617393. 1
92090617394. 2
92090617395. 3
92090617396. 4

Question Number : 49 Question Id : 9209064401 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

$o Afaadl H SIS 3fid B TN HIRSHTY AGLGH g B A1 0T B H 6 el
B, SUSEARIHI_ Hed gl

(1) T SRSy (2) S Mgl
(3) g wgAierdn (4) GG

Options :

92090617393. 1
92090617394. 2
92090617395. 3
92090617396. 4

Question Number : 50 Question Id : 9209064402 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List II :

Liat I Last 11
(A) pivot joint (I} knee and elbow
(B) Hinge Joint (II) thumb in cooperation with
fingers
() Saddle Joint (IIT} shoulder and hip joint
(D)  Ball and socket joint (IV) Radius & ulna of lower arm

Choose the correct answer from the options given below:

(1) (A)-(I). (B)-(II), (C)-(I11), (D)-(IV)
(2) (A)-(IL), (B)-(IID). (C)-(IV), (D)-(I)
(3) (A)-(I1D), (B)-(IV}), (C)-(T), (D)-(IL)
(4) (A)-(IV), (B)-(1). (C)-(1T}, (D)-(11T)

Options :

92090617397. 1
92090617398. 2
92090617399. 3
92090617400. 4

Question Number : 50 Question Id : 9209064402 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

it | 3 a9y g 1 @ e S

H?ff~| =l

(A) Y ) ge SR SigAl

(B) Io WY (ay  Siferal & Hggi A 7T

(€ IS WY iy $Y 4R Fee G

(D) afa 3R Fice Ty (v) et oo &t ASTH SR S
A feu v fasedl & 9 et IR &1 9g- Sl
(1 (A)-(1), (B)-(I1), (C)-(H1), (D)-(IV)
(2 (A)-(I1), (B)-(1), (C)-(IV), (D)-(1)

)

)
(3) (A)-(Il1), (B)-(1V), (C)-(1), (D)-(11)
(4) (A)-(IV), (B)-(1), (C)-(l1), (D)-(N1)

Options :
92090617397. 1
92090617398. 2



92090617399. 3
92090617400. 4

Question Number : 51 Question Id : 9209064403 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given bhelow are two statements :

Btatement I : Clozed and chain exercise tends to emphasize compressions of joint.

For example in the knee during the upright stance phase of squats.

Statement I1 . Open chain exercise tends to invalue forces perpendicular to the joints.

And ereates stable conditions for exercise.

In the light of the above statements, choose the correct answer from the options given below :

(1) Both Statement I and Statement IT are true
(2) Both Statement I and Statement II are false
(3) Statement I 15 true but Statement 11 15 false

(4) Statement [ 1s false but Statement 1T 1s true

Options :

92090617401. 1
92090617402. 2
92090617403. 3
92090617404. 4

Question Number : 51 Question Id : 9209064403 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Ry RRumue:

HYA | : §¢ 99 A H SIS] & ga1d W SR 31 oIdl 81 ISTE0N & AU Whed & AW
T P GRHE geAd H|

FYA N ; %m?ﬁ@@%ﬁaaaaﬁfaﬁ&nﬁaﬁmw%eﬁ?mmasﬁmﬁﬂ
GEinIEd

I HY & s | i f2u U fasdi # 9 Hel Iaial 994 $ifvig

(1) ST ISR IAE

(2) @Y1 3R SHl T §

(3) YT Td g, Afdhd HYF 11 3T §
(4) DY HTA g, Wb FUT 1 A 8

Options :

92090617401. 1
92090617402. 2
92090617403. 3
92090617404. 4

Question Number : 52 Question Id : 9209064404 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given helow are two statements :

Statement | : Berveral studies have reported that fiber composition 1s genetically
determined.
Statement I1 : Genetics 138 not the sole determinant of individual differences in

strength, A good traning program can make up for genetic deficiencies.

In the light of the above statements, choose the correct answer from the options given below :

(1) Both Statement 1 and Statement 11 are true
(2) Both Statement I and Statement II are false
(3) Statement [ 18 true but Statement IT 15 false

(4) Statement [ is false but Statement I 18 true

Options :



92090617405. 1
92090617406. 2
92090617407. 3
92090617408. 4

Question Number : 52 Question Id : 9209064404 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TR FARTMUE:
HUT | - B3 ALYl A I & [P BIEaR (L) =1 AR w0 I FeiRd gkt 81

HYF 11 AR, AT ardhd H ik &1 tear FuRe 781 8, o aifdie Sl & fi
U 351 UIRI&01 HAHH 11 off Gebell |

I HY & 3faid | A fGU U fasmedi # 9 Hel el 99 Hifeiw

(1) ®YTIRNSHIgd g

2)  FYFI SR I SHl I 8

(3) YT | TF &, Al Y |l 3 &
(4) FYI| AT G, Afb FUT 1 T &

Options :

92090617405. 1
92090617406. 2
92090617407. 3
92090617408. 4

Question Number : 53 Question Id : 9209064405 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

“Muscle adapt specifically to the nature of work performed’the statement is related to

(1) Reversibility principle (2) Specificity principle
(3) Individual difference (4) Owerload principle
Options :

92090617409. 1
92090617410. 2
92090617411. 3
92090617412. 4



Question Number : 53 Question Id : 9209064405 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fa9y ¥u ¥ yexi fby oF 9@ & @1 uefa & forw AfwulRE &1 g 3
e gl

()  ufaad Rigr 2) Toua g

(3) AfdTd 3R (4) Sifaur Rgra

Options :

92090617409. 1
92090617410. 2
92090617411. 3
92090617412. 4

Question Number : 54 Question Id : 9209064406 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The equation of motion in tangential direction applied by the high bar on the gymnast’s arms
15 given by

B
(1) Y Fi=mat or at = 2 2y W _dd
i et
!
(3) P=t— 4 F= i{mr}
m dt
Options :

92090617413. 1
92090617414. 2
92090617415. 3
92090617416. 4

Question Number : 54 Question Id : 9209064406 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



forARE 1 Yosfi UR I U2 gR1 AR ¥ Y@ fa=n # 7ifd &1 Sl fud gk gl

(1) Y Ft=mat or at= 2k (2) W= il
m dt
(3) F= é 4 F :%(mv]

Options :

92090617413. 1
92090617414. 2
92090617415. 3
92090617416. 4

Question Number : 55 Question Id : 9209064407 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The device used to measure the impulsive forces involved during walking, running, jumping
18

(1) Dynamometer (2)  Spiro meter
(3 Force platform (4) Vertical scale
Options :

92090617417. 1
92090617418. 2
92090617419. 3
92090617420. 4

Question Number : 55 Question Id : 9209064407 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

W,@ﬁsﬂ,ﬁfﬁ%aﬁmm&nﬁlﬂaﬁﬁm%m U ynT T
iG]

(1)  9Ifad |9 &1 37 (2)  YTTA

(3) daHd (4) FHERR T

Options :

92090617417. 1
92090617418. 2
92090617419. 3



92090617420. 4

Question Number : 56 Question Id : 9209064408 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The distance from F to A 15 known as the force arm, and the distance from L to A as the load

arm. The force required to move the lever is indirectly proportional to the length of the force
arm. Which of this equation best explains the statement

(1) foree x force arm = load % load arm (2)  foree x load = foree arm x load arm
(3) force arm x load arm = load x force (4) foree =load x load arm x force arm
Options :

92090617421. 1
92090617422. 2
92090617423. 3
92090617424. 4

Question Number : 56 Question Id : 9209064408 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

FOATH B gl & 9 Yol 3R LA A TP D1 G & YR Yol & 10 I SH A1l 21 iR H
i & foT oawad §d, g Yol & HhHMYN Bidl ol 39 HY I ARAl & Al
Frofafad & & SF-ar gie gafad g |

(1) e x & Yol = HIX x HIY Yol (2) &l x HIY = de] Yol « HIX Holl
(3) e Holl « HN Hll = HIX x & (4) dof = HIY x HRX Holl = def Yol
Options :

92090617421. 1
92090617422. 2
92090617423. 3
92090617424. 4

Question Number : 57 Question Id : 9209064409 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The term “unexplained under performance syndrome”™ 15 also referred as

(1) Over streas syndrome (2) Chronic Fatigue syndrome
(3) Chronic Mental syndrome (4) Owertraining or Burnout
Options :

92090617425. 1
92090617426. 2
92090617427. 3
92090617428. 4

Question Number : 57 Question Id : 9209064409 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

g “HPIPd SSIRBIAY g &1 i wefid faar irar g1

(1) e o Rigm (2) il HeH RigH
3) it AR Rig™ @)  Sffcufeo ar yHamee

Options :

92090617425. 1
92090617426. 2
92090617427. 3
92090617428. 4

Question Number : 58 Question Id : 9209064410 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Excessive water intake under certain exercise conditions, however, can be counterproductive
and produce the potentially serious medical complication known as

(1) Euhydration (2) Hyponatremia
(3) Hypohydration (4) Hyperhvdration
Options :

92090617429. 1
92090617430. 2
92090617431. 3
92090617432. 4



Question Number : 58 Question Id : 9209064410 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Fo AW Uil & ded S@f® g &1 94+, giaiih, 3eel ol Udhdl ¢ AR SHIfdd ©9 4

TR fafd wfedar Uer &% Il ¢ Od Fgd gl
(1) Yol (2) BREUHCHEr
3)  egoiadre (4)  SHfceradeE
Options :

92090617429. 1
92090617430. 2
92090617431. 3
92090617432. 4

Question Number : 59 Question Id : 9209064411 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of this mechamsm catabolizes carbohydrates, lipids, and proteins into simpler forms
that the body easily absorbs and assimilates?

(1) Glycolysis (2) Hydrolysis
(3) Glucogenosis (4) Bio-synthesis
Options :

92090617433. 1
92090617434. 2
92090617435. 3
92090617436. 4

Question Number : 59 Question Id : 9209064411 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

3 Al § § SH-91 dF DEgRec [ods AR Wied & ¥Rd w41 H U0 &l 8, IR
STEII ¥ it 3R T B g |

(1) ARG (2) TESIPIARNH
@)  TARUSEEE (@) O SIeuT
Options :

92090617433. 1
92090617434. 2
92090617435. 3



92090617436. 4

Question Number : 60 Question Id : 9209064412 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following i1s not an appropriate reason for congestive heart failure (CHF)?

(1) Marrowed arteries from CHD that limit myoeardial blood supply

(2) No Defects present in the heart at birth

(3 Chronic hypertension
(4) Heart valve disease from past rheumatic fever or other pathology
Options :

92090617437. 1
92090617438. 2
92090617439. 3
92090617440. 4

Question Number : 60 Question Id : 9209064412 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

38 G-I $uified 8¢ iy (@ va ) o1 3fd FRur &1 2|

(1)  Hiua S ¥ dPiad wnfar o aieSad vad sngfd & Hiftd el g1
(20 W% 9Hd Ga I ®15 QW Hgg A1 g

(3)  oiUl 3= I

(4) oo AT @R a1 3 [9$fd 9 geg ard A7

Options :

92090617437. 1
92090617438. 2
92090617439. 3
92090617440. 4

Question Number : 61 Question Id : 9209064413 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the following disease is caused by the deficiency of Haemoglobin?

(1) Malaria (2) Anemia
(3) Rahies (4) Cholera

Options :

92090617441. 1
92090617442.2
92090617443. 3
92090617444. 4

Question Number : 61 Question Id : 9209064413 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fHffetad # & SH-a1 37 gHrals $1 wHt A glare?

(1)  Halar (2) Jadoidl
3) 4) g

Options :

92090617441. 1
92090617442. 2
92090617443. 3
92090617444. 4

Question Number : 62 Question Id : 9209064414 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Who has given Achievement motivation theory?

(1) Sigmund Freud (2) John Silva
(3) John W. Atkinson (4) C.A. Shields

Options :

92090617445. 1
92090617446. 2
92090617447. 3
92090617448. 4

Question Number : 62 Question Id : 9209064414 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

Sudfed IRon g feem faan

(1) R wrs (2) off Ryean

(3) ol S&q SMeH A 4) U ey
Options :

92090617445. 1
92090617446. 2
92090617447. 3
92090617448. 4

Question Number : 63 Question Id : 9209064415 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

One of the most powerful techniques for facilitating learning of arousal” self-regulation is

(1) Bem sex role inventory (2) Biofeedback
(3) Burn out {4) Catastrophe theory
Options :

92090617449. 1
92090617450. 2
92090617451. 3
92090617452. 4

Question Number : 63 Question Id : 9209064415 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

a1 W-fgu Hia- 1 giaw & e v 3fRd dae-iel § 4 Us |

(1) o S Y g (2) oid Ufdfeean
(3) SeMHe @) 3aer g
Options :

92090617449. 1
92090617450. 2
92090617451. 3
92090617452. 4



Question Number : 64 Question Id : 9209064416 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Select from the following a group of eatables each member of which is rich in Tron.

(1) Amla, Spinach, Jaggery (2)  Amla, Cabbage, Tomato
(3) Amla, Cabbage, Spinach (4) Jaggery, Amla, Tomato

Options :

92090617453. 1
92090617454. 2
92090617455. 3
92090617456. 4

Question Number : 64 Question Id : 9209064416 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

e Ulad e & afdda &1 Rk @ o, sifgaa ¢k fafémaa & gr1 gofa: aftfa
fpar o g g1

(1) 8% &1 g 2) WHEA
3) Fewr 4) Uid 9% Wa-

Options :

92090617453. 1
92090617454. 2
92090617455. 3
92090617456. 4

Question Number : 65 Question Id : 9209064417 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Select from the following a group of eatables each member of which 1s rich in Iron.

(1) Amla, Spinach, Jaggery (2)  Amla, Cabbage, Tomato
(3) Amla, Cabbage, Spinach (4) Jaggery, Amla, Tomato
Options :

92090617457. 1
92090617458. 2
92090617459. 3
92090617460. 4



Question Number : 65 Question Id : 9209064417 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

e @re uerl & el § ¥ U 94 S 99 &3 [o1ud] Ud® @re a4 R gl

(1)  ffad, uTds, TS 2) 3{Taen, gar et TR
3)  3iigan o= M, urees (4) T[S, g, THER
Options :

92090617457. 1
92090617458. 2
92090617459. 3
92090617460. 4

Question Number : 66 Question Id : 9209064418 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of these genes is responsible for endurance and power athlete?

(1) PPAR Delta (2) ACTIN 3
(3) ACE (4) HIF 1A
Options :

92090617461. 1
92090617462. 2
92090617463. 3
92090617464. 4

Question Number : 66 Question Id : 9209064418 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

3 I B H-T1 oI Ye-ua 2R dieda? gt 8 & fog fier 82

(M Uidi U 3R Secl (2) UacH 3
3 UHs (4) TF S UA1T
Options :

92090617461. 1
92090617462. 2



92090617463. 3
92090617464. 4

Question Number : 67 Question Id : 9209064419 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Sucrose, (Disaccharides) 18 a combination of:-

(1) Glucose and Galactose 2y Glucose and Fructose

(3) lucose and Glucose (4) Galactose and Fructose

Options :

92090617465. 1
92090617466. 2
92090617467. 3
92090617468. 4

Question Number : 67 Question Id : 9209064419 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gh (fewps)_ fipmg)
(1) TqPIe SR Telaeiel ol (2) TPl X Yacrsl Bl
3) T AR DA B (4) TGS 37X YAl &l

Options :

92090617465. 1
92090617466. 2
92090617467. 3
92090617468. 4

Question Number : 68 Question Id : 9209064420 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

On a high fat, low carbohydrate or in starvation, the liver glycogen reserves are exhausted
and depot fat 18 being utilized, this condition is know as

(1) Glycogenosis (2) Glyeolysis

(3) Citric acid eyele 4y Ketosis

Options :



92090617469. 1
92090617470. 2
92090617471. 3
92090617472. 4

Question Number : 68 Question Id : 9209064420 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Id 991, FH BlagRec J1 YER T, I%Hd sdier Rod AT 81 S1d 8 SR Sudid aa
&1 IudnT e ST § 5 Rufa &1 HEd gl

(1) TdArSH! SHIRE 2) TAEHIARET
3) Rdie e as (4) ooy
Options :

92090617469. 1
92090617470. 2
92090617471. 3
92090617472. 4

Question Number : 69 Question Id : 9209064421 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Divspnoea, apnoea and Hypoxia are the terms associated with

(1) Disorders of digestive system (2) Isorders of cardiovascular syvatem
(3) Disorders of Respiratory system (4) Disorders of endocrine system
Options :

92090617473. 1
92090617474. 2
92090617475. 3
92090617476. 4

Question Number : 69 Question Id : 9209064421 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



fseafar, vufar siRguifeaar 9SS T B

(1) UrEHdd & [dPR (2) Eoudlied! dd & faeR
3) YA T & AR (4) 3id: WAl dF & [AeR
Options :

92090617473. 1
92090617474. 2
92090617475. 3
92090617476. 4

Question Number : 70 Question Id : 9209064422 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Deficiency of protein may lead to

(1) Hypertension (2) Dhabetes
(3) KEwashiorkar (4) Fatigue
Options :

92090617477. 1
92090617478. 2
92090617479. 3
92090617480. 4

Question Number : 70 Question Id : 9209064422 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gife=t &t Ht &1 3R & S Tl 2|

(1) = addM (2) WYAE
3)  TYR UMY (@HIRARSGI) (4) YBH
Options :

92090617477. 1
92090617478. 2
92090617479. 3
92090617480. 4



Question Number : 71 Question Id : 9209064423 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements : One is labelled as Assertion (A) and the other is labelled as

Reaszon (R).

Assertion (A) ; If a gymnast tucks himself into a ball, his moment of inertia is small and if
he has to increase his moment of inertia about the transverse axis he shall

remain in tuck in position.

Reaszons (R) ; Moment of inertia is the distribution of a body's mass, i.e. its size. Moment
of inertia might well be thought of as the rotating body’s radius. If he
remains into tuck in shape, his movement of inertia iz large about the

transverse axis.

In the light of the above statements, choose the most appropriate answer from the options

given below :

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A)
(2) Both (A) and (R) are correct but (R) is NOT the correct explanation of (A)
(3) (A) is correct but (R) is not correct

i(4) (A) is not correct but (R) is correct

Options :

92090617481. 1
92090617482. 2
92090617483. 3
92090617484. 4

Question Number : 71 Question Id : 9209064423 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



4 & YA 3T U §: TP AT (Assertion A) & ®9 T ff@d g d gO0 9F IR
(Reason R}aﬁ_m fl

fiFYT A . OE TP oARe 3 §e &1 90 & g Bl i g, d 391 98 uiaihan
BT & ol Tt I8 A TS Udlhdl ST TR el & woH # Sgr usdl
g, 1 99 39 fufa & &b g g

PRUIR: TS Uidlehdl IR SHHH I 39S YR F1 [Gaur g1 Ssal uidfhdr &
IR &1 ov] B3 & = F A o 9dal §1 9iG 98 did | 34T HR H
B § 1 SUB! TS Hidshal U & & HgH 7 afrefis grft|

JURIad HYF & el H, =i 4T TT f[dbedl H ¥ Ta8 Jugad Ix &1 98- Difolg

(1)  AARRGH TGl AR R, A DI el AT 8

(2) AJRREF TG E Al R A B TS BT §
3) AWEIE AlbIRHR el g

4) AYSITEIE APIREEE

Options :

92090617481. 1
92090617482. 2
92090617483. 3
92090617484. 4

Question Number : 72 Question Id : 9209064424 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements : One is labelled as Assertion (A) and the other is labelled as

Reason (R).

Assertion (A):  The information gained from a genetic test does not change with age.

Reaszons (R) : The information gained from a genetic test does not change with
age,whereas the information derived from a traditional performance test,
and consequently the predictive quality of that test, does change with age.
Not all the predictions that can be made with a genetic test may be known

at the time when the genetic test is conducted.

In the light of the above statements, choose the most appropriate answer from the options

given below :

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A)
(2) Both (A) and (R) are correct but (R) is NOT the correct explanation of (A)
(3) (A) 15 correct but (R) is not correct

{4) (A) is not correct but (R) is correct

Options :

92090617485. 1
92090617486. 2
92090617487. 3
92090617488. 4

Question Number : 72 Question Id : 9209064424 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



1 &1 YA ST U §: TP MUSHU (Assertion A) & ®U T fafEd g o GO0 I9F RO
(Reason R}%Fﬁ H:

PYT A - ARG U0 ¥ Bl SHSRT /g & 91y 5 9gadi 8

HRUIR : SIS GRI&0 ¥ A sert muﬂﬁmﬁ%wﬁ?m
UGYH Uieu 4 Fabrell T8 SRl 3T AT 701 31
@ A 95ad g Wuﬁw%mmaﬁﬂﬁﬂﬁuﬁwﬁm‘fﬁw
THY UR =Tl ST Sl el oid SfJdf2re utaqur fban man gl

JWRIF HY & 3Heild H, i U 70 fah el § J 98 IJugad I &1 99 Diferg
(1) ASRRGH T8 IR R A DI gl AT

@) ASJRRGH eI E AfPR A P O AT TE ©

(3) AHEIg, Alh R Hal ol &

4 AT APTIREE T

Tt

Options :

92090617485. 1
92090617486. 2
92090617487. 3
92090617488. 4

Question Number : 73 Question Id : 9209064425 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements : One is labelled as Assertion (A) and the other is labelled as

Reason (R).

Assertion (A) : The sustained pace of a marathon runner at close to 90% of aerobic
capacity, or the sprinter's rapid speed in all-out exercise, directly reflects

the body's capacity to transfer chemical energy to mechanical work.

Reasons (R) : The upper limits of exercise intensity ultimately depends on the rate that
cells extract, conserve, and transfer chemical energy in food nutrients to the
contractile filaments of skeletal muscle. Enzymes and coenzymes greatly

alter the rate of energy release during chemical reactions.

In the light of the above statements, choose the most appropriate answer from the options

given below :

(1) Both (A) and (R) are correct and (H) is the correct explanation of (A)
(2) Both (A) and (R) are correct but (R) is NOT the correct explanation of (A)
(3) (A) is correct but (R) is false

(4) (A) is not correct but (R) is true

Options :

92090617489. 1
92090617490. 2
92090617491. 3
92090617492. 4

Question Number : 73 Question Id : 9209064425 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



I &1 By 3T MU §: UF Sif@ A (Assertion A) & ®9 ¥ [afad § df g0y 99F HRU
(Reason R}a?_TFq ﬂ,‘

HUFYT A - T TR YTaF Bt aaR 7d ol IGH! WRifeS & & 90% & THO g @
Ush oo yray & gyt sl # oo fd drar-din 396 IR & WEe
Tl F gifae HRI H WM $31 3t agdl &1 giar gl

PHRUIR: 3id § AT P digal St HUdl ST 1fEd gidt & & 59 o @ SRl
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Options :

92090617489. 1
92090617490. 2
92090617491. 3
92090617492. 4

Question Number : 74 Question Id : 9209064426 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements : One 1s labelled as Assertion (A) and the other is labelled as

Reason (R).

Assertion (A) :  Athletes training for maximal strength, hypertrophy, power, and movement

velocity should emphasize heavy free weights movements in a single plane.

Reasons (R) : The major advantages arise from the ability of the seemingly innumerahble
variations of free-weight exercises to simulate the movement demands of
sports and every-day activities. This use of free weights is vital in adhering

to the specificity.

In the light of the above statements, choose the most appropriate answer from the options

given below :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)
(2) Both (A) and (R) are true but (R) is NOT the correct explanation of (A)
(3 (A) 1s true but (R) is false

(4) (A) 1s false but (R) is true

Options :

92090617493. 1
92090617494. 2
92090617495. 3
92090617496. 4

Question Number : 74 Question Id : 9209064426 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



I T1 YA 8T U §: UF SHfU@ U (Assertion A) & ®U ¥ [lGd § df @0 99 BRI
(Reason R) & w0 ff;

Py A - HfHad Ufdd, sifagf, died <R 71 97 & foe faars! ufdieor 8 ue gl dd
oyl YR Tifd W SR & g
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TURIGd By & 3als 4, Hiid 4T 7Y [dehedl § 8 998 Iugdd i &1 9+ Difvg
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20 AJRRGH U g Al R A DI g ARS8l &
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(4) AWl g, AlhI R Wl §
Options :
92090617493. 1
92090617494 2

92090617495. 3
92090617496. 4

Question Number : 75 Question Id : 9209064427 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Arrange the organs of respiratory system in correct sequence

(A)  Pharynx

(B) Larynx
() Trachea-bronchial tree
(D MNoze

(E) Nasal cavity

Choose the correct answer from the options given below :

(1) ABCDE
(2) B.C.D,.E A
(3) C,D,E A B
(4) D.EABC

Options :

92090617497. 1
92090617498. 2
92090617499. 3



92090617500. 4

Question Number : 75 Question Id : 9209064427 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

HT T3 ST P Hel HH H I
A T

B. TIal

C. drgAd-S=pad ¢t

D. A&

£ A% & fog

412 lRu v fashedl & 9§ el IR &1 994 Hifg

(1) &dd A B,C,D,E
(2) &dd B,C,D,EA
(3) &dd C,D,EAB
(4) dd D,E A B,C

Options :

92090617497. 1
92090617498. 2
92090617499. 3
92090617500. 4

Question Number : 76 Question Id : 9209064428 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Arrange the function of digestive system in correct sequence
(&) Egestion

(B) Ingestion

() Mastication

(D) Digestion

(E) Absorption

Choose the correct answer from the options given helow :

(1) ABCDE

2 BCDEA

(3) C.D.E,A B

(4) D.E.ABC
Options :

92090617501. 1
92090617502. 2
92090617503. 3
92090617504. 4

Question Number : 76 Question Id : 9209064428 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

UTEE O3 & a1 61 Wl HH 7 e He
A, SferEA

B. Siadgum

C. Ia&MI

D. UrR=HA

E. 3@y

42 few e fasedi & 9 el IR &1 994 Pifee

(1) dd A, B,CD,E

(2) &dd B,C,D,EA

(3) &dd C,D,E A B

(4) Pdd D,E A B,C
Options :

92090617501. 1
92090617502. 2



92090617503. 3
92090617504. 4

Question Number : 77 Question Id : 9209064429 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

When we strike the ground during running the Earth provides a reaction force in the
following sequence choose the correct sequence of vertical ground reaction force, for a runner
for the same 1s

A Heel of their foot first

(B A runner who makes contact with a flatter foot

(C) There is a larger impact peak (point a) for the rear-foot striker

(D} Then a propulsive peak

(E) Force varies as through the duration of foot-ground

Choose the correct answer from the options given below :

(1) A BCDE
(2) BC.D.E A
(3 C.D.E.AB
(4) D.E.A,B.C

Options :

92090617505. 1
92090617506. 2
92090617507. 3
92090617508. 4

Question Number : 77 Question Id : 9209064429 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



o §H GISd 9Hg 9HH IR I 3@d ¢ of 9l UF @H § uiifehar 9a UaH <l § U ula®
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(1) <ad A,B,C, D,E
(2) dd B, C,D,EA
(3) @dd C,D,E A B
(4) <hdd D,E A B,C

2 fn M

L

Options :

92090617505. 1
92090617506. 2
92090617507. 3
92090617508. 4

Question Number : 78 Question Id : 9209064430 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements :

Statement [ :  Sprint-power athletes often achieve 20 to 30% higher blood lactate
levels than untrained counterparts during maximal short-duration

EXercise

Statement [T :  Improved motivation that accompanies exercise training and increased
intramuscular glycogen stores that accom-pany training (which
probably allow a greater contribution of energy via anaerotric

glveolysis).

In the light of the above statements, choose the correct answer from the options given below :

(1) Both Statement | and Statement Il are correct

(2) Both Statement I and Statement Il are incorrect

(3 Statement [ is correct but Statement 11 is incorrect

i(4) Statement [ is incorrect but Statement I is correct
Options :

92090617509. 1
92090617510. 2
92090617511. 3
92090617512. 4

Question Number : 78 Question Id : 9209064430 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

92090617509. 1
92090617510. 2
92090617511. 3
92090617512. 4

Question Number : 79 Question Id : 9209064431 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements :

Statement [ :  Genetics is key factor in Athletic Ability.

Statement [1 : Human athletic ability i1z determined by numerous sociocultural,
peychologieal, anatomical, and physiological factors. Both nature and

nurture determine human athletic ability.

In the light of the above statements, choose the correct answer from the options given below

(1) Both Statement I and Statement II are correct

(2) Both Statement I and Statement 11 are incorrect
(3) Statement [ 18 correct but Statement IT 18 incorrect
(4) Statement [ 15 meorrect but Statement 11 18 correct

Options :

92090617513. 1
92090617514. 2
92090617515. 3
92090617516. 4

Question Number : 79 Question Id : 9209064431 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

92090617513. 1
92090617514. 2
92090617515. 3
92090617516. 4

Question Number : 80 Question Id : 9209064432 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given helow are two statements -

Statement 1 : Torgue is a twist. It is, then, a tuwrning force producing rotation.

Statement 11 :  In athletec throwing events, torque is created in the vertical axis by
twisting (rotating) the plane of the hips in advance of the plane of the

shoulders on entry into the delivery phase.

In the light of the above statements, choose the correct answer from the options given below :

(1) Both Statement I and Statement IT are true
(2) Both Statement I and Statement II are false
(3) Statement [ 15 true but Statement 11 15 false

(4) Statement [ is false but Statement I1 i true

Options :

92090617517. 1
92090617518. 2
92090617519. 3
92090617520. 4

Question Number : 80 Question Id : 9209064432 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

92090617517. 1
92090617518. 2
92090617519. 3
92090617520. 4

Question Number : 81 Question Id : 9209064433 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement I : The proteins are complex molecules built mainly from amino acid and

(Oxidative deamination of amino acid takes place in the liver.

Statement 1T : Amino acids undergo transamination in the liver in which deamination

of an amino acid to corresponding ketoacid.
In the light of the above statements, choose the correct answer from the options given below :

(1) Both Statement I and Statement I1 are true
(2) Both Statement I and Statement 11 are false
(3) Statement I is true but Statement [ is false

i(4) Statement [ is false but Statement 11 is true

Options :



92090617521. 1
92090617522. 2
92090617523. 3
92090617524. 4

Question Number : 81 Question Id : 9209064433 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

92090617521. 1
92090617522. 2
92090617523. 3
92090617524. 4

Question Number : 82 Question Id : 9209064434 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The transcription of the gene creates a messenger RNA that is translated into the desired
protein within the

(1) Protoplasm (2) Cytoplasm
(3) Nuclear Envelope (4) Nucleoplasm
Options :

92090617525. 1
92090617526. 2
92090617527. 3
92090617528. 4



Question Number : 82 Question Id : 9209064434 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

o9 @1 ufdcad U@ ISuEs® SR U4 U §41d1 ¢ ol ¥ fia gifsa WA |
Jarad far Srar g |
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Options :

92090617525. 1
92090617526. 2
92090617527. 3
92090617528. 4

Question Number : 83 Question Id : 9209064435 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Fat constitutes the ideal cellular fuel as

(A) [t carries a large quantity of energy per unit weight.

(B) Fat provides as much as 40 to 50% of the energy requirement of a well-nourished
individual at rest.

(C) One gram of pure lipid contains about 11.1k cal (38 K.I) of energy.
(D) It transports and stores with difficulty.

(E) 15% body mass of males and 25% of that of females consists of fat.

Choose the correct answer from the options given helow :

(1) A & B is correct
(2) B & D is correct
(3) C & E is correct
i(4) A & E is correct

Options :

92090617529. 1
92090617530. 2
92090617531. 3
92090617532. 4



Question Number : 83 Question Id : 9209064435 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
a1 e PP ST BT BRAT P

A ZUA UM IB1E YR g8t 91 § Sl gidl 8

B. 99l 3RM I UPh GUINd Afdd bl Foll Maxdehdl &1 40 I 50% dd WaH Hidl gl
C. U qM Y [OfUe & oy 11.1 fbal $aRt (38 favel S Hail gl g

D. Ug ®i6-s U URded AR HERU fodr omar g1

E. TO8I &1 15% AR Afigenaff &1 25% TR goqam oo & A gar g

i Gu e fGwedi & @ 98 S &1 994 g ;

(1) ARBEHET
2) B3RDEFT
(3) CIRETET
4) AJIRETT
Options :

92090617529. 1
92090617530. 2
92090617531. 3
92090617532. 4

Question Number : 84 Question Id : 9209064436 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List 11 :

List I List IT

(A)  Vitamin-D (I} Involved in amino acid and
glvecogen metabolism

(B) Vitamin-A (II) Maintains intercellular matrix
of cartilage, bone, and dentine;

(C) Vitamin-B6 (III} Promotes growth and
mineralization of bones

(D} Vitamin-C (IV) Maintenance of epithelial
tissues

Choose the correct answer from the options given below:

(1) (A)-(D), (B)-(ID), (C)-(I1I). (D)-(IV)
(2) (A)-(ID), (B)-(III), (C)-(IV), (D)-(D)
(3) (A)-(IID), (B)-(IV), (C)-(D), (D)-(ID)
(4) (A)-(IV), (B)-(D), (C)-(1I), (D)-(I1L)

Options :

92090617533. 1
92090617534. 2
92090617535. 3
92090617536. 4

Question Number : 84 Question Id : 9209064436 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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(1
(2
(3
(4

) (A)-(1), (B)-(1), (C)-(I), (D)-(IV)
) (A)-(I1), (B)-(IN), (C)-(1V), (D)-(1)
) (A)-(l1), (B)-(1V), (C)-(1), (D)-(1)
) (A)-(IV), (B)-(1), (C)-(I1), (D)-(l1)
Options :

92090617533. 1

92090617534. 2

92090617535. 3

92090617536. 4

Question Number : 85 Question Id : 9209064437 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match Liat I with Last IT

List I List II

(A) Intrinsic Motivation (I)  Success 1z defined in relation
to the attainments other
people

(B) Extrinsic Moivation (II) Impetus to perform an activity
“for itself”

{7y  Task orentation (IIT) Person 15 involved in a task
largely as a result of external
factors

(D} Egoorientation (IV) The athlete 18 interested

mainly in subjective indic of
success such as skill learning,
mastery of challenge and self-
improvement

Choose the correct answer from the options given below:

(1) (A)-(1). (B)-(IT), (C)-(I), (D)-(IV)
(2) (A)-(IL), (B)-(IIT), (C)-(IV), (D)-(T)
() (A)-(I1T}, (B)-(IV), (C)-(I), (D)-(II}
(4) (A)-(IV), (B)-(T). (C)-(IT), (D)-(I1I)

Options :

92090617537. 1
92090617538. 2
92090617539. 3
92090617540. 4

Question Number : 85 Question Id : 9209064437 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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(1) (A)-(1), (B)-(11), (C)-(111), (D)-(1V)
(2) (A)-(I1), (B)-(H), (C)-(1V), (D)-(1)
(3)
(4)

3 (A)-(1), (B)-(IV), (C)-(1), (D)-(I)
4 (A)-(IV), (B)-(1). (C)-(11), (D)-(l1)
Options :

92090617537. 1
92090617538. 2
92090617539. 3
92090617540. 4

Question Number : 86 Question Id : 9209064438 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of this statement are true in regards to function of blood?

(A) Digestive function

(B) MNutritive function

(C) Reproductive function

(D) Regulation o Body temperature
(E) Urinary funetion

Choose the correct answer from the options given below :

(1) A & B is correct
(2) B & D 15 correct
(3) C & E 1s correct
(4) A & E 15 correct



Options :

92090617541. 1
92090617542. 2
92090617543. 3
92090617544. 4

Question Number : 86 Question Id : 9209064438 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Gd & ®El & e § HH-8 FYT 9d g
A UEH &

B
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E e
1= feu 7o faeedi § 9 9et I &1 Tg4 Hifelg :

(1) ASRBUER
() BIRDHEE
(3) CREWIZ
(4) ASREWER

Options :

92090617541. 1
92090617542. 2
92090617543. 3
92090617544. 4

Question Number : 87 Question Id : 9209064439 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of these statements are correct symptoms of food intolerance?

(A) Pain in joint

(B) Feeling energetic

() Pain in neck

(D Anxiety

(E) Dark circles under the eves

Choose the correct answer from the options given below :

(1) A & B is correct
(2) B & D is correct
(3) C & E 15 correct
(4) A & E i1s correct

Options :

92090617545. 1
92090617546. 2
92090617547. 3
92090617548. 4

Question Number : 87 Question Id : 9209064439 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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A GISIHEE

B. GheldM YA
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D. &

E @ Fdaea®R
2 fdu e faseui & 9 9al IR &1 99 Hifol ;

(1) ASRBHEE
2) B3RDWEIT
(3) CSREUEE
4) ASRETSE
Options :

92090617545. 1
92090617546. 2



92090617547. 3
92090617548. 4

Question Number : 88 Question Id : 9209064440 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Match List I with List II :

Liat 1 List 11

{A)  Drive theory (I)  To study arousal i1s to measure
vour skin temperature with a
biodot, a small disc

(B) Inverted- U Hypothesiz of (II) By relaxing each group of
arous=al voluntary muscles, we can
induce relaxation i1n  the

involuntary muscles as well

{7y Bio-feedback (IIT) Three factor mnfluence
performance: complexity task,
arousal and learned habits

(D) Progressive muscle (IV) The optimum level of arousal
relaxation for a task depends on com-
plexity of the skill required to

carry out that task.

Choose the correct answer from the options given below:

(1) (A)-(D), (B)-(ID), (C)-(11D), (D)-(IV)
(2) (A)-(IT), (B)-(11D), (C)-(IV), (D)-(T)
(3) (A)-(IID, (B)-(IV), (C)-(D). (D)-(II)
(4) (A)-(IV). (B)-(1), (O)-(IL), (D)-(III)

Options :

92090617549. 1
92090617550. 2
92090617551. 3
92090617552. 4

Question Number : 88 Question Id : 9209064440 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Hid fgu U f[dsedi 1 § Gel I &1 99 I
(1) (A0, (B)-(), (C)-(), (D)-(IV)
2) (A, (B)-(N), (C)-(V), (D)-(1)
(3) (A, (B)-(IV), (C)-(1), (D)-(ll)
4 (A)-(V), (B)-(1), (C)-(11), (D))
Options :

92090617549. 1
92090617550. 2
92090617551. 3
92090617552. 4

Question Number : 89 Question Id : 9209064441 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with Last IT :

List I Last II

(A} Agression () A set of symptoms affecting a
group of competition in sports
that emphasize the importance
of physical appearance

(B) Anorexia athletica (II) Eating dizorder to control their
own bodies

{C)  Anorexia nervosa (IIT) Showing a forceful or self-
confident approach

(D) Assertiveness (IV) Behavior, with it a
recognizable  possibility  to
harm physically or
peychologically.

Choose the correct answer from the options given below:

(1) (A»D, (B)-(I), (C)-(I), (D)-(IV)
(2 (A, (B)-(III), (C)-(IV), (D)-(T)
(3 (A, (B)-(IV), (C)-(D), (D)-(ID)
(4) (A)-(IV), (B)-(I), (C)-(1I), (D)-(I1I)

Options :

92090617553. 1
92090617554. 2
92090617555. 3
92090617556. 4

Question Number : 89 Question Id : 9209064441 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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1
2
3
4

(A)-(1), (B)-(I), (C)-(IN), (B)-(IV)
(A)-(I1), (B)-(1n), (C)-(1V), (D)-(I)
(A)-(I1), (B)-(IV), (C)-(1). (D)-(In)

)
)
)
) (A)-(IV), (B)-(1), (C)-(I1), (D)-(H1y

(
(
(
(

Options :

92090617553. 1
92090617554. 2
92090617555. 3
92090617556. 4

Question Number : 90 Question Id : 9209064442 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which on these statements best suits the “achievement goal theory”
(A) Refers to people’s impetus to perform an activity “for itself and the pleasure and
satisfaction derived from participation.

(B)  Athletes’ behaviour in achievement situations is a consequence of their perception of
“success”

(C) Person 1s involved in a task largely as a result of external factor or constraints

(Dy  Measurement of achievement goal is done by Task and Ego Orientation in sport
GJuestionnaire.

(E) Lse subjective indices of success and failure whenever possible.

Choose the correct answer from the options given below :

(1) A & B only
(2) B & C only
(3) A & D only
i(4) D & E only

Options :

92090617557. 1
92090617558. 2
92090617559. 3
92090617560. 4

Question Number : 90 Question Id : 9209064442 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Iufel deg &1 HIY W UyTadl § F1 SR PR A= gR1 a1 Srar g
od Ml HHd B, Ghadl IR b adl & Afdaurd Gl &l SYaRT &1 |

1= feu o fawedi § 9 98l I &1 994 DIt :

(1) A3RBEIE
2) B3RDUE®
3) AdRDEIE
(4) DIREWEE
Options :

92090617557. 1
92090617558. 2
92090617559. 3
92090617560. 4

Question Number : 91 Question Id : 9209064443 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of these statement regarding gross versus net energy expenditure are correct

(A) We show that oxygen consumption during constant-load light-to-moderate exercise
rizes rapidly during the first several minute.

iB) Met energy expenditure=Gross energy expenditure - Resting energy expenditure

() Gross Energy expenditure = (%) External work accomplished + Energy expenditure =
100

(D) It requires considerably more energy to carry weight on the feet or ankles than to
carry the same weight on the torso.

(E}) To obtain the true energy expenditure, one must add the resting metabolism from the
gross energy expenditure of the exercise

Choose the correct answer from the options given below :

(1) A& Bonly
(2) B & C only
(3) C & D only
(4) D & E only

Options :

92090617561. 1
92090617562. 2
92090617563. 3
92090617564. 4

Question Number : 91 Question Id : 9209064443 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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D. 48 W IHM YR I8 &1 ga-1 § TR 1 7@l R 4R I8 & U F1H e FHol
@1 STaLgHdl gldl 8

E.  Ugl Sl og UId $34 & [y, SU1H & 9&d Foll o9d H 3R &1 fyfa & Tgm=yg
&1 SisA1 d1fgul

1 feu T fasreul & 9§ el IR &1 994 Hifvg

(1) &ad A3RB

(2) @ad B3R C

(3) Fdd C3RD

(4) &dd DIRE
Options :

92090617561. 1
92090617562. 2
92090617563. 3
92090617564. 4

Question Number : 92 Question Id : 9209064444 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



(Given below are two statements :

Statement [ : Lactate production and accumulation accelerate as exercise intensity
decreases.
Statement II : The muscle cells can neither meet the additional energy demands

aercbically nor oxidize lactate at its rate of formation. A similar pattern
exists for untrained subjects and endurance athletes, except the

threshold for lactate buildup

In the light of the above statements, choose the correct answer from the options given below :

(1) Both Statement I and Statement 11 are true

(2) Both Statement I and Statement 11 are false

(3) Statement I is true but Statement 11 is false
(4) Statement [ is false but Statement 11 is true
Options :

92090617565. 1
92090617566. 2
92090617567 3
92090617568. 4

Question Number : 92 Question Id : 9209064444 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

92090617565. 1
92090617566. 2
92090617567 3
92090617568. 4

Question Number : 93 Question Id : 9209064445 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

(Given below are two statements ;

Statement [ :  Diuretics is one of the performance enhancing drugs.

Statement [T :  Metolazone, spironolactore and bumetanide are diuretics which are used

potentially to conceal the presence of a dope in the urine.

In the light of the above statements, choose the correct answer from the options given below :

(1) Both Statement I and Statement II are true
(2) Both Statement I and Statement II are false
(3) Statement I is true but Statement 11 is false

(4) Statement I is false but Statement II is true

Options :
92090617569. 1



92090617570. 2
92090617571. 3
92090617572. 4

Question Number : 93 Question Id : 9209064445 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

92090617569. 1
92090617570. 2
92090617571. 3
92090617572. 4

Question Number : 94 Question Id : 9209064446 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements : One 15 labelled as Assertion (A) and the other 1s labelled as

Reason (R).

Asgertion (A): In the context of sport participation, important developmental
considerations include the evidence-based beliefs that children are both

guantitatively and gualitatively different from adults in maturation.

Reasons (R) - Research has identified some of these gquantitative and qualitative
differences in cognitive, social, and psychomotor development and
explained how they influence the sport engagement, learning and

performance of children and adolescents.

In the light of the above statements, choose the most appropriate answer from the options

given below :

(1) Both (A) and (R} are correct and (R) is the correct explanation of (A)
(2) Both (A) and (R) are correct but (R) is NOT the correct explanation of (A)
(3) {A) 18 eorrect but (R) 15 not correct

(4) {A) 15 not correct but (R) is correct

Options :

92090617573. 1
92090617574. 2
92090617575. 3
92090617576. 4

Question Number : 94 Question Id : 9209064446 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

92090617573. 1
92090617574. 2
92090617575. 3
92090617576. 4

Question Number : 95 Question Id : 9209064447 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Typical sequence of events in addressing clinical issues in athletes psychological state is

A) Dagnosis
iB) Treatment
() Recognition
(D) Referral

(E) Assessment

Choose the correct answer from the options given below :

(1) A B.C.D.E
(2) B,C.D.E A
(3) C.D.E.A.B
4 D,EABC

Options :
92090617577. 1



92090617578. 2
92090617579. 3
92090617580. 4

Question Number : 95 Question Id : 9209064447 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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(4) 94 D,EABC
Options :

92090617577. 1
92090617578. 2
92090617579. 3
92090617580. 4

Question Number : 96 Question Id : 9209064448 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Energy in food comes from

(1) Vitamin (2) Water
(3 Carbohvdrates (4 Minerals
Options :

92090617581. 1
92090617582. 2
92090617583. 3



92090617584. 4

Question Number : 96 Question Id : 9209064448 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

92090617581. 1
92090617582. 2
92090617583. 3
92090617584. 4

Question Number : 97 Question Id : 9209064449 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following iz the indigestible portion of our diet is essential to the health of
digestive system

(1) Carbohydrates (2)  Protemn
(3 Fat (4) HRoughage
Options :

92090617585. 1
92090617586. 2
92090617587. 3
92090617588. 4

Question Number : 97 Question Id : 9209064449 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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92090617585. 1
92090617586. 2
92090617587. 3
92090617588. 4

Question Number : 98 Question Id : 9209064450 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The process of addition to variation in the sequence of the genetic code contained in the
genome, modifications that enable heritable alternations in phenotype without changes in
DNA sequence is known as

(1) Exosomes (2) Micro RNA's
(3) Epigenetics (4) System Genetics
Options :

92090617589. 1
92090617590. 2
92090617591. 3
92090617592. 4

Question Number : 98 Question Id : 9209064450 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

92090617589. 1
92090617590. 2
92090617591. 3
92090617592. 4

Question Number : 99 Question Id : 9209064451 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The term used to deseribe the sense of body's position in space and kinesthesia refers to the
sensation associated with joints is know as

(1) Touch pressure (2) Thermoreceptors
(3 Merkel's disc (4) Proprioreception
Options :

92090617593. 1
92090617594. 2
92090617595. 3
92090617596. 4

Question Number : 99 Question Id : 9209064451 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

3jafe 7 TR 1 Fufd &1 avl H33 F g ugad wsg SR fERRm gt 4 931
T B Halid ®dl g

(1) WY gd 2)  yHfeR
3) Hobd Dl S 4) Ui

Options :

92090617593. 1
92090617594. 2
92090617595. 3
92090617596. 4

Question Number : 100 Question Id : 9209064452 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Shivering, Hunger, Increase in voluntary, activity are thermos regulatory response associated
with exposure to cald.
(1) Increase heat Production (2)  Decrease heat Production

(3) Increase heat loss (4) Decrease heat loss

Options :

92090617597. 1
92090617598. 2
92090617599. 3
92090617600. 4



Question Number : 100 Question Id : 9209064452 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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92090617597. 1
92090617598. 2
92090617599. 3
92090617600. 4



